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MODEL QUESTION 19

1. Fillin the blanks with the words from the box. Make any change if necessary.

into with | a poisonous | insanitary | in thus | filth many responsible

Water is (a) vital element of the environment, is polluted in (b)____ ways. Man pollutes water by
throwing waste (c) it. Farmers use chemical fertilizers and insecticides (d) their fields. When rain
and floods wash away some of these chemicals, they get mixed (e)____ water in rivers, canals and ponds.
Mills and factories also throw their (f)
(g)____ pollute the water. Water vehicles also pollute rivers by dumping oil, food waste and human waste
into them. (h)____latrines and unsafe drains standing on river and canal banks are also (i)_____ for further
pollution. Thus water is polluted by various kinds of waste and (j)____ .

chemicals and waste products into rivers and canals and

a d g j

b e h

c f i
2. Fill in the blanks with suitable words.
A good manis (a)....... man of character. His polite behaviour is (b)_____ great asset because he can win the
heart (c)....... other people around him, no matter whether he is rich or poor. He also (d)......... the admiration
(=) [P all he deals with. He behaves well (f)...... even those who are rude (g)...... all circumstances. But
(h)..... man who is really polite does not (i)....... to be whatever polite be (j)........ provocation.

3. Make five sentences using parts of sentences from each column of the table below.

Culture is a society’s beliefs, customs, language and so on.
Culture includes badly influenced by dish antenna and so on.

Hospitality shake hands at greeting only with males and not with females.
We a term used for a way of life.

Our culture a part of Bangladeshi culture.

4. Complete the following text with right form of the verbs given in the box.

come | be can see hear glitter | disperse | keep sit burn

A winter morning (a) ...... misty and cold. There is dense for everywhere. sometimes, the fog is so dense that
sunrays (b)........ get through it. Even things at a distance can hardly be (c)........ Bird’s chirping is not (d).........
The cow and other animals cannot (e) ..... out. People like to (f)....... indoors. The fog (g)....... when the sun
rises up. Dew drops on the tip of grass (h)...... like pearls. The rural people (i)..... hay on the yard while children
and old people (j) ...... around the fire to warm themselves.

a d 8 i
b e h
c f i
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5. Change the narrative style of the following text:

“Stop! You are eating all our bread,” shouted the two rats. “l am doing my best, but I've told you it’s difficult,”
said the monkey. “Give us the little piece,” said the rats. “This is my piece. Haven’t | done a lot of work for
you?” replied the monkey. “How foolish we are believing you!” said the rats,

6. Change the sentences according to directions.

a. Mohsin is so close to me that | cannot forget him. (make it compound)

b. Shakespeare who was a great genius enriched English literature. (make it simple)
c. In case of your going to the party, you may enjoy musical soiree. (make it complex)
d. If he helps me, | shall also help him. (make it compound)

e. The teacher is always rude to him. (make it negative)

f. Always recall Allah. (make it negative)

g. As soon as he reached home, he went to his mother. (make it simple)

h. He is confident of his success. (make it complex)

i.  have no money to spare. (make it complex)

j. The boy who is industrious will shine in life. (make it simple)

oo |=h | |Qa|lo |(o|w

j
7. Complete the following sentences.

a) Astudent must take care of his health because

b) Moreover, it is good health which

c) If he wants to enjoy good health,

d) He should take physical exercise and

e) Thus he will be able to enjoy good health which
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8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

Greenhouse effect is a serious (a)__ (globe)__ problem. It is a process by which thermal (b)__ (radiate)__
from earth’s surface is absorbed by (c)__ (atmosphere)__ greenhouse gases. There are many causes of
greenhouse effect. (d)__ (Deforest)__ and destroying forests, rapid (e)__ (grow)__ of unplanned industries,
overpopulation, pollution, increase of temperature, etc are the (f)__ (contribute)__ to greenhouse effect.
Too many people need (g)__ (add)__ things for their (h)__ (survive)__. They cut down trees to build their
house, furniture, boats etc. It brings natural (i)__ (balance)__. We all must be (j)__ (care)__ to reduce it.

a d g i
b e h
C f i

9. Make tag questions of these statements.

a) The lazy will not prosper, ?

b) The girl in her pleased us all, ?

c) Time and tide wait for none, ?

d) Nobody believes a liar, ?

e) Only Allah can help us, ?

10. Complete the passage with suitable connectors.

Health is the most precious wealth of a man. (a)__ many people are not aware of the rules of health. (b)__
many of them take unhygienic foods and drinks. (c)___, some utterly unscrupulous and selfish manufacturers
(d)__ traders of food mix various harmful chemicals with many foods. Many ignorant people take these
foods and (e)__ become sick and suffer from various diseases.

a C e
b d
11. Rewrite the following passage and punctuate where necessary.

can i have a look at your paper for a moment said the man nest to me i just want to see the cricket results i
havent quite finished with it i said could you wait for a moment i cant wait long he said i am getting off at
the next stop
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